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HSC-21 Assignment-2(Higher Mathematics)
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X, Y)=(a,0)

= x-3,y)=(1,0)
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ax’ +By? +72x - 32y - 16 =0

o =18 YR B =8 T,

18%° +8y* + 72x— 32y — 16 =0

= 9x* +4y* +36x — 16y —8=0

= 9x% +36x + 4y’ — 16y = 8

= 9(¢ +4x) +4(y* — 4y) =8

= 9 +2.x2 +2°) + 4y’ - 2.y.2 + 2°) =8 +52
= 9(x+2)* +4(y—2)*=60
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(X, Y)= (0, b)

= (x+2,y-2) = (0, % 15)
S y) =(=2,2+415)
W (- 2,2+ 415)

ax + By’ +72x—32y-16=0

o =9 ¢RP = - 16 T,

9x% — 16y + 72x— 32y — 16 =0

= 9x* +72x— 16y — 32y =16

= 9(* +8x) — 16(y* + 2y) = 16

= 90¢+2x4 +49)—16(y/ +2y1+1%) =16 +144— 16
= 9(x+4)2—16(y + 1)° =144
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(X, Y)=(0,0)

= (Xx+4,y+1)=(0,0)
Lxy)=(-4,-1)
L] (-4,-1)
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5
=4 -
= X+4 _4x4

=>X+4=%5
S X=1=0,x+9=0
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